HOW TO

Find an equation of a line given the slope and a point.

Step 1. identify the slope

Step 2. ldentify the peint.

Step 3. Substitute tha values into the peoint-siope form, ¥y — ¥ = m(x — x; )
Stap 4. Write the aquation In slope-intarcept form

" i ; ; 1 ! !
Find an equation of a line with slope m = = that contains the point
(6, -4). Write the equation in slope-intercept form.

Find an equation of a line with slopem = — ;:; that contains the point
(10, -5). Write the equation in slnpe-interﬁéﬁ'fnrm.
——

Find the equation of a horizontal line that contains the point (-1, 2).
Write the equation in slope-intercept form.

Find the equation of a horizontal line that contains the point (-3, 8).
Write the eguation in slope-intercept faorm.
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Find an equation of a line that contains the pointsand
= (‘“ 4 - 3__ Write the equation in slope intercept form. l.:
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Y—- Y, = \m(x—x,)
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Find an equation of a line that contains the points [3‘%] and (5, 6).
Write the equation in slope intercept form.
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HOW TO

Find an equation of a line given two points.

Step 1. Find the slope using the given points.

Step 2. Choose one point

Step 3. Substilute the values into the point-slope form, ¥y — ¥y = m{x—x1).
Step 4. Write the equation in slope-intercept form

Find an equation of a line that contains the points (-3, -1) and (2, -2).
Write the equation in slope intercept form.
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Find an equation of a line that contains the points (-2, 4) and (-2, -3).
Write the equation in slope intercept form.

X= - 2

Find an equation of a line that contains the points (-4, -3) and (1, -5).
Write the equation in slope intercept form. :
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Find equation of a line parallel
to a given line

4

Find equation of a line
perpendicuar to a given line

To Writa an Equation of a Lins

i given Use Fom

Stopa and y-ntercept slope-intercapt v = mx+ &

Skopé and a port poinl=S3ope V=W =mli-1)

Two poinis poini-siope V=9 =mlx—x)
Find an equation of a line parallel to y = 2x — 3 that contains the

point (-2, 1). Write the equation in slope-intercept form.,

ymabed)  y-2ees
Y-1=ax29
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Find an equation of a line parallelto y = o= 3 that contains the
. » e —
point (6, 4). Write the equation in slope-intercept form.

y 7= ';'-(x‘"?‘f)

Y-4= i (x-e)
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Find an equation of a line perpendicular to y = 2x — 3 that contains
the point (-2, 1). Write the equation in slopevin't?:?cept form.
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Find an equation of a line parallel to y = — ix — 3 that contains the
point (6, 4). Write the equation in slope-intercept form. Y
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Find an equation of a line perpendicular to x = 5 that contains the
point (3, -2). Write the equation in slope-intercept form.

=0
" Y +2=00x-3)

Y +2=0
-, M=0
Find an equation of a line perpendicular to y = 5 that contains the

point (-4, 2).
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